12a1158 (K12a1158)
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AQE/G/ Solving Sequence

711>1256—>1—>8—>5->10>4—>2—>3 —> 9> C2,C8
€11 Cg

A knot diagranﬂ Ci2 €7 €5 Cp €4 €1 €3  Cg

Ideals for irreducible component#ﬂ)f Xpar

I =W - 4 —u—1)

* 1 irreducible components of dim¢ = 0, with total 38 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LIP=(w®—u"+..- —u—1)

(i) Arc colorings

1
ailz = \0
1
al1g = U2
u
a’ﬁ = u3 + u
w? 41
a] = U4 + 2’LL2
—ud —2ud —u
ag = \ —y” —3u® —2ud +u
ud +2u
as = ud+u
—ub —3ut —2u2 +1
aio = —ub —2ut —u?
—u® —4u” — 5ud + 3u
ag =\ —? —3u"—=3ud +u
—u?? —9u?0 . 4?41
ag = \ —y?2 — 8y20 4 .. 4u* + 3u?
—u?t — 8ul® + — 4ud + 3u
asz = —u —9u 4 4t 4w
—u3T — 14w o+ 100 —u
ag = —u3T w0 —u— 1
(ii) Obstruction class = —1

(iii) Cusp Shapes

= —4u30 + 4% — 56u3* + 52033 — 352132 4 30443t — 1276u30 + 1024u2® — 2804128 +
2080127 — 3336126 4 2240u?® — 364u* + 3613 + 5244122 — 3388u?! + 7232120 — 40400 +
1692u'® — 560u'” — 500066 4+ 2612u'° — 4528u'* + 174403 + 384u!2 — 536u!! +
202410 — 736u° + 416u® + 104u” — 368ub + 1920 — 84ut — 1203 + 24u? — 12u — 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
“ u® — 13077 + -+ — 3409u + 723
C2,C3,Cg U3S+U37+-~-—u—1
Co
e u® ¥ 4 = 9u—5
C10
38 37
C6; C11, C12 u® —ut 4+ —u—1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1 y*® — 27937 + ... — 8344645y + 522729
C2,C3,C8 y38+45y37+~“+3y+1
Cg
C4,Cs,C7 Y3 — 47T 4+ — 41y + 25
€10
Cg,C11,C12 y38+29y37++3y+1




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1 (vol + y=1CS)

Cusp shape

uw=0.921549 + 0.0268141

19.0082 — 5.99781

—13.8808 4 2.76311

uw=0.921549 — 0.0268141

19.0082 + 5.99781

—13.8808 — 2.76311

u = —0.910401 + 0.0167421

—11.94600 + 3.741121

—12.20309 — 3.922127

u = —0.910401 — 0.0167421

—11.94600 — 3.741121

—12.20309 + 3.922121

u= 0.902816

—9.44212

—8.29230

u = —0.295584 + 1.0715701

—8.32513 — 0.583291

—10.41542 — 0.500107

u = —0.295584 — 1.0715701

—8.32513 + 0.583291

—10.41542 4- 0.500101

u=0.220657 + 1.1229701

—0.206300 — 0.4962091

—9.24627 — 0.656931

uw= 0.220657 — 1.1229701

—0.206300 + 0.4962091

—9.24627 + 0.656931

uw = —0.203175 + 1.2326901

2.53092 + 2.666161

—0.99392 — 3.015781

u = —0.203175 — 1.2326901

2.53092 — 2.666161

—0.99392 + 3.015781

u = —0.033249 + 1.2637801

4.26230 + 1.455221

1.17782 — 5.087921

u = —0.033249 — 1.2637801

4.26230 — 1.455221

1.17782 + 5.087921

u=0.247059 + 1.2684401

1.06826 — 5.796491

—5.38275 4 8.726201

uw=0.247059 — 1.2684401

1.06826 + 5.796491

—5.38275 — 8.726201

u = —0.689534 + 0.1385781

—11.05530 + 4.252421

—13.45193 — 4.298851

u = —0.689534 — 0.1385781

—11.05530 — 4.252421

—13.45193 +- 4.298851

u=0.087911 + 1.3036207

—2.26439 — 2.769311

—3.18945 + 3.502561

uw= 0.087911 — 1.3036201

—2.26439 + 2.769311

—3.18945 — 3.502561

u = —0.275003 + 1.2949301

—6.60950 + 7.696251

—7.73538 — 6.486151

u = —0.275003 — 1.2949301

—6.60950 — 7.696251

—7.73538 + 6.486151

u= 0.456153 + 1.2666001

—16.6317 + 1.08571

—10.74929 4- 0.1

u= 0.456153 — 1.2666001

—16.6317 — 1.08571

—10.74929 4- 0.1

u = —0.443090 + 1.2713807

—8.05649 + 1.090651

—9.00721 4+ 0.1

u = —0.443090 — 1.2713801

—8.05649 — 1.090651

—9.00721 4+ 0.1

= 0.432187 + 1.2833501

—5.45541 — 4.771151

—4.00000 + 2.963191

w=0.432187 — 1.2833501

—5.45541 + 4.771151

—4.00000 — 2.963191

= 0.626097 + 0.1027741

—3.13828 — 2.661241

—12.32538 4 6.293511

= 0.626097 — 0.1027741

—3.13828 + 2.661241

—12.32538 — 6.293511

u = —0.433822 + 1.2977701

—7.85499 + 8.544541

—8.56346 — 6.860271




Solutions to I}

V=1(vol + v=1C)

Cusp shape

u = —0.433822 — 1.2977701

—7.85499 — 8.544541

—8.56346 + 6.860271

u = 0.438829 + 1.3079201

—16.3117 — 10.85641

—10.31831 4 5.563371

u= 0438829 —1.3079201

—16.3117 4 10.85641

—10.31831 — 5.563371

u= 0.354367 + 0.4028871

—7.36308 — 1.414191

—9.22771 + 4.330331

u= 0.354367 — 0.4028871

—7.36308 + 1.414191

—9.22771 — 4.330331

u = —0.535584

—1.19956

—17.62450

u = —0.184566 + 0.2900871

—0.222289 + 0.8300541

—5.72806 — 8.073471

u = —0.184566 — 0.2900871

—0.222289 — 0.8300541

—5.72806 + 8.073471




II. u-Polynomials

Crossings u-Polynomials at each crossing
“ u®® —13u®T 4 - — 3409u + 723
C2,C3,C8 u38+u37+._u_1
Co
C4,C5,C
45 C5, €7 71438+U,37—‘—~--—9u_5
C10
38 37
C65C11, C12 uw —u 4+ —u—1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
1 Y3 — 27937 4 ... — 8344645y + 522729
C2,C3,C8 y38+45y37_|__.__~_3y+1
C9
Cy4,Cs5,C7 y38_47y37+_41y+25
€10

C6,C11, C12 B 4203+ 4 3y 41




